Diamond Engineering
Automated Measurement Systems

Installation and Configuration Guide

X0-90 Elevation Stage







Table of Contents

OPT-X0-90 - INtrOAUCTION ..ottt sss et sees 5
Elevation Stage Assembly - TOP MOUNT ...t eessaees 6
Elevation Stage Assembly - SIDE MOUNT ........cooiiirineeeresesesisesisiesisisessessasssesassessenes 8
AUT MOUNTING NOIES ...ttt ss s sanes 10
Software and Controller INStallation............o e 12
SOftware CONFIGQUIAtION ...ttt sttt s s ssesaes 13
X0-90 SPECITICATIONS ...ttt bbbttt 14
Part Drawings = ACIYHC BraCket.. ...t 15
Troubleshooting and SUPPOIt INFO........ereeee s sesseees 16

Diamond Engineering
Automated Measurement Systems

http://www.DiamondEng.net - Support@DiamondEng.net
P.O. Box 2037 Diamond Springs, CA 95619 - 530-626-3857






OPT-X0-90 - Introduction

Overview

Option X0-90 provides +/- 90 degrees of elevation tilt for the x000 series turntable, this option
replaces the legacy +/- 45 degree tilt option. The stage is compatible with any DAMS Conroller and
software releases after November 2019. This option includes provisions for both “Top Mount” and
Side Mount configurations.

Package Contents

- X0-90 Elevation Stage

- Aluminum tripod mounting bracket

- Acrylic mounting plate for DAMS Turntable

-4 x 1/4-20 x 1.25" black nylon thumb screws

- High capacity carbon fiber tripod w/ adjustable neck.

Installation & Configuration 5 X0-90 Elevation Stage



Elevation Stage Assembly - TOP MOUNT

Mounting

1. Expand Tripod Legs
2. Loosen Mounting Clamp (fig.1)
3. Thread tripod bolt into aluminum stage bracket, orient so that the mount
can swing freely (fig. 2)
4. mount the acrylic mount to the rotary stage using the 4 x 22mm M-6 Screws ,
5. Mount turntable to mount sing the 4 x 1/4-20 x 1.25" nylon thumb screws
6. Connect yellow cable with 9p DSUB connector to the rotary stage.
7. Connect other yellow cable with right angle to DAMS Turntable.

X0-90 Elevation Stage 6 Installation & Configuration



Elevation Stage Assembly - TOP MOUNT - Complete

Installation & Configuration 7 X0-90 Elevation Stage



Elevation Stage Assembly - SIDE MOUNT

Mounting

A counterweight may be needed on the tripod legs or hung from tripod hook!

1. Expand Tripod Legs

2. Loosen Mounting Clamp and spin silver hub to thread into aluminum bracket (Fig. 1)
4. Mount the acrylic mount to the rotary stage using the 4 x 22mm M-6 Screws ,

5. Mount turntable to mount sing the 4 x 1/4-20 x 1.25" nylon thumb screws

6. Connect yellow cable with 9p DSUB connector to the rotary stage.

7. Connect other yellow cable with right angle to DAMS Turntable.

X0-90 Elevation Stage 8 Installation & Configuration



Elevation Stage Assembly - SIDE MOUNT - Complete

Installation & Configuration 9 X0-90 Elevation Stage



X0-90 Elevation Stage 10 Installation & Configuration



x000 Turntable AUT mounting holes

AUT Mounting Holes

The Polarizer's rotating plate has 20x 10-32 UNC threaded mounting holes in a circular

pattern. The dimensions below can be used to make custom mounting brackets.

5.350

/ ©11.500
/
Q s
e /
T
/—10-32 UNF - 2B
x;' %20 @ 18 Deg.
| ,-” s
- &
N
| - '$— - “

_ 3.750
*

©1.050 THRU — $— -

1 /
ot/ .

/

/
/ o
/ |
I
45° |
Il.r'f - ,$_ -
/ .
/ i
e
| [ e
f e 0.8%0
| .
l | II 1
- &y soo0—1
I

SN
R \\ -~ @0.201 THRU
| | //’T x4 @ 90 Deg. \
&1—& - -6 -
/.
AN -9 - .
N rd - -
_$__
1 | _-$__
S SINPRRES S e

0.315
+004/-,015

©0.435 THRU
x8 @ 45 Deg.

£0.092 F 0.750

X8 @45 deg. |
]

X0-90 Elevation Stage

Installation & Configuration

1"



Software and Controller Installation

Software Installation -

1. Install the file located on the flash drive that was included with your system, this
will install the Dams Antenna Measurement Studio. Also located on the flash drive
is control documentation for controlling the positioner through custom software
or Python Module.

2. Refer to the main installation manual OR the quick setup sheet given with the
system to enter your license key etc.

Controller Installation -

1. Connect the controller to the PC, Open device manager (Control Panel — System
— Hardware Tab — Device Manager). Note which COM port your DAMS controller
is currently configured on. Close device manager. If you need a driver it can
be found in c:\dams\driver

2. If the COM port is greater than 8, right click and select properties, and change to 8
or lower

X0-90 Elevation Stage 12 Installation & Configuration



DAMS Software Configuration for Opt. X0-90

DAMS Software Configuration for X0-90 90 degree tilt feature for x000
series systems (applies to s/n 2018xxx and above controllers)

1. Open the DAMS Measurment software and select “positioner settings” from the
upper right corner of the screen.

2. Select USB-SERIAL from “Select Controller”
3. Press “Find” to find the controller
4. If it does not find the controller ensure it is not above com8 in device manager
5. Enable mini stepping for both axis
6. Check “Full Spherical Mount” box
7. Motor Resolution and Gear Ratio 8. Speed Settings
AZ (phi / roll / turntable) HORIZONTAL
Motor Res: .1125 Start: 1000
Gear Ratio: 14.4 Stop: 10,000
Slope: 8
Elevation / Tilt VERTICAL
Motor Res: .1125 Start: 1000
Gear Ratio: 90 Stop: 2000
Slope: 5

After you have configured the settings above, press “"SAVE" then “Restart with Default Extents”

Motor and Control Settings -

Select Contraller ; [| » USB Horizontal - Speed and Acceleration Settings
USB/SERIAL - [~ microstep 7
[~ Manually F*ositionAmennaJ : . |
- SUNOL_SC110V
| -

-Settings
01125 |l orizs i i Horiz Holding Current
4 Mowve & Measure Az Dwell ICIFI j
< Measure but Don't move Iﬂ-—

AZ GearRatio EL |

144 [o0 I~ DBO50 Series E, == % Mini Stepping
-
[ Reverse Rotation |' Flip AZ/El axis |

S —
[~ FSM Conical Elevatmn Dontuse wn'h x100 3 = = .

— — USB Vertical - Speed and Acceleration Settings
¥ Position Tracking [ Hardware Limits Limit Switch Conifg -
e L e

x100 Positioner Setl:mgs

Select x100 Model z;dFSMPm WARNING: Do NOT turn on unless
you recieved your DAMS System
[61007100 : ; “Wllcows -] itk Ri
Vert Holding Current

Jon &
¥ Wini Stepping “Defaut 880 || ‘Default 300 “Default 2

See Important Current Settings on Next page

Installation & Configuration 13 X0-90 Elevation Stage



DAMS Software Configuration for Opt. X0-90

Custom Current Configuration (set within positioner settings)

1. Open the DAMS Measurment software and select “positioner settings” from the
upper right corner of the screen. Press “Advanced Current Settings”

2. Enable custom current for Y axis only as shown below

3. Enterin the settings for the Y axis shown below, this will provide enough current
for the tilt stepper motor

**ix WARNING **** Cancell
Do NOT enable these options unless instructed to do so us or your system documentation,
Select Controller setting too much current can destroy the stepper motor windings.
HISHEERIN. . e . . Save an Update |
These settings only apply to controllers with microstepping and software controlled current.
AZ MotorRes. EL | Medium Current 2 Axis Controllers (LC4) |
for12s | W o5 | Axis  Custom Current [ e p——

AZ GearRatio EL | Giliiihe X I Enavea 25 1o
[aa Bo |f [x000 standard -]

Dwell
it S e 150 50 o
|_Hi_gh Current 3 Axis (MC3 / MC4) |
¥ Position Tracking
Axis Custom Current
x100 Positioner ! Duwell
X [V Enabled fio
Selectx100 Model
IE‘IDUJ’?‘IUU vl -
Y ¥ Enabled [ioo 50 [io
Z  Enabled Run Current  Hold Current | Dwell
I3 15 o

X0-90 Elevation Stage 14 Installation & Configuration



X0-90 Specifications

Elevation Stage

Ratio:

Resolution:
Drivetrain:
Holding Torque:
Movement Range:
Position Feedback:

Weight (Stage/Bracket only):

Max Speed:
Mounting Options:

Composition:

Weight Capacity:

Controller

Controller type:
Resolution:

Motor Current:

Motor Connector:
Communication Interface:

Communication cable length:

Input Voltage:
Power Supply (included):

Motor cable length:

90:1

0.02° - Full Step 0.0625 ° - 1/16th microstep
1.5A/phase Bipolar stepper motor with worm drive
N/A

360° continuous or indexed

None- Open loop, position maintained by software
6 Lbs. / 2.7 Kg

30 R.P.M. (light load)
M6 Through hole or M4 rear mount

Elevation Stage: Aluminum
Turntable Bracket: Acrylic

4.5 Kg (Top Mount)
9 Kg (Side Mount)

2 axis microprocessor based controller

Full step / half step / Microste

1.5A per motor phase max (requires cooling)
4Pin-F PICO series connector

USB-Mini B to internal R§232

Optional DB9 RS232 serial port with exernal USB adapter

2 Meters (Included)

24VDC 2.5A
24VDC 2.5A - 110/220v input

6 Meters

Installation & Configuration

15 X0-90 Elevation Stage




Part Drawings - Small Acrylic Bracket

1 A_w c
umc.mc%@mowcm%w%%_ww 005" TI0'T 000°C 686'C 00S'€ 000
Jul bulieaulbug _.ucoEm_n_ 0Sz
_ .
T:T ‘ajeds Buimelq — 000 < g
SVl S TV ——" . [T
buLungaq plepuels JI— 98¢ \
"P3S S00° SeduRIB|0L ~
paliaa.id Yoelg - 10|0]D ]
[RUIWON - DAY 1S€D 0G/” g i
soojg doL-1 06-1d0-0X ——- . N\ o
SLE°T ) -+ (D)
A | ——1 \& \&
0SL'T — - -
006 X 96b'@ A\ - — —— - m@ m@
NYHL 092 P X 006 X 9p'D A\ '
Ny——1 . YL 092 @ EN
i boE'T (D
Q0 - — ¢
_ 000°€
\ B
N Q £X
oC8 X T9L'D /\
NYHL 26D
N O [ osew — D - D
pX
NYHL 992'@
Q
0009

Installation & Configuration

16

X0-90 Elevation Stage



Part Drawings - Long Acrylic Bracket

I ¥ 4
£58€-979(0€S)
1oubuspuowelp®ss|es
*ou] bunauibug puowelq
G'T:T ‘a|eds bumelq
saypur :syun
buuingaqg pJepuels
"PIS S00° SsduRIR|0L
paJliajaid doelg - JojoD
[RUIWON - J1jAIDY 1SeD 05/
9¥peig buo 06-Ld0-0X
§86°¢
0sz: 000° 910°¢ 000°€ 00S'v 0009 00§, 000'6 000°0T
SLE”
000" — _ e & 000°
AN === .
005 |@| [__ & O & O 00
| )
L @ 8T0°T
. === Pan) .
worFOY]  [C”D @m ®) e} & 0007
- 0S4 A 0SC'T .
1 (@) —=% ? 186°C
oom.mlbu — O O mW/ O 005°€
000 — /I X X 000t
000°'T 4 82 - ONN 9T-8/€ mmmzm wmw..w N MYHL 997'@
oﬁwo ooo_.oH
000° —— YT y1 Ty 11 1 T 1
2 b el | | || | |
05/ — N I T T I A | | | | | |
T N_w 4

X0-90 Elevation Stage

17

Installation & Configuration



Part Drawings - Aluminum Tripod Bracket

£58€-979(0€S)
19u-buspuowelp®ss|es
*ou] buusauibug puowelg

1:T ‘9eds buimelq

Sayour Ssuun

bulingaq plepuels

"PIS S00° S9duUeIR|0L

9|buy wnuIWNpY [BINIRUYDIY 0SZ X EXE
1eig podii] - 06-1d0-0X

\,
. N
052° ,©

0S/' A 92 - DNN 91-8/€
00T'T { v
L . T

000" —gd :

000" 05271 005°€

000" 015 0SL°T 066°C og'¢

000° < T
! __urpw
mhm.|||n.u

ST9'T

0S¢’ 1@

T

Installation & Configuration

18

X0-90 Elevation Stage



Troubleshooting and Support Info.

Troubleshooting

1. Check all connections and ensure the controller and power supply are on.

2. Be sure you have the proper COM port seleced and movment is NOT disabled.

3. Check to see that you have 2 DAMS related COM ports showing in Device Manager, disconnect
one Controller to verify which COM Port is assigned to the other controller as they will both have

the same name.

If you still cannot resolve the issue, please contact us.

Diamond Engineering
Automated Measurement Systems

http://www.DiamondEng.net - Support@DiamondEng.net
P.O. Box 2037 Diamond Springs, CA 95619 - 530-626-3857

Installation & Configuration 19 X0-90 Elevation Stage



